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General Instructions :
The question paper comprises of two sections, A and B, you are to attempt both the sections.
All questions are compulsory.
There is no overall choice. However, internal choice has been provided in all the three questions
of five mark category. Only one option in such question is to be attempted.
All questions of section A and all questions of section B are to be attempted separately.
Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.
Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.
Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.
An additional 15 minutes time has been allotted to read this question paper only. Candidates
will not write any answer on the answer sheet during this time interval.
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10.

11.

12.

13.

SECTION - A

A person is advised to wear spectacles with convex lenses. State the defect of vision he
is suffering from.

Complete the following chemical reaction -

List two man made ecosystem.

If a lake is contaminated with pesticides, which one of the following organisms will
contain in its body the maximum concentration of pesticides and why ?

Small fish, Pelicans, Zooplanktons, Phytoplanktons, Big fish.

Which component of white light deviates (i) the least and (ii) the most while passing
through a glass prism ? State the reason of this difference in deviation.

An object is kept at a distance of 12 cm in front of a concave mirror. It forms a real
image four times larger than the object. Calculate the distance of the image from the
mirror.

The sky appear dark instead of blue to an astronaut. Why ?

What are fossil fuels ? The excessive use of fossil fuels is discouraged. Why ?

(a) How does the tendency of an element to loose electrons change in a “‘group” ?

(b) How does this tendency change in a ‘Period” ?

(a) State Modern Periodic Law ?

(b) Where do you think hydrogen should be placed in the Modern Periodic Table ?

List four changes you would like to incorporate in your life style which would facilitate
the more towards a sustainable use of available resources in our country.

In tobacco plant, the male gametes have 24 chromosomes. State the number of
chromosomes in (i) egg nucleus, (ii) zygote, (iii) endosperm and (iv) leaf cell.

The organisms formed by asexual reproduction are considered as clones. Why ? State
the advantage of sexual reproduction over asexual reproduction.
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14.

15.

16.

17.

18.

19.

20.

21.

22,

23.

A student focussed the image of a candle flame on a white screen by placing the flame
at various distances from a convex lens. He noted his observation in the following

table -
Distance of the flame |Distance of the screen
from lens (cm) from lens (cm)

60 20

40 24

30 30

24 40

12 70

Analyse the above table and answer the following questions : -

(1)
(i)
(i)

(a)
(b)

What is the focal length of convex lens ?

Which set of observation is incorrect and why ?

Draw the ray diagram to show the image formation for any correct set of
observation.

State the laws of refraction of light.

A transparent medium ‘P’ floats on another transparent medium ‘Q". When a
ray of light travels obliquely from ‘P” to ‘Q’, the refracted ray bends away from
the normal. Which of the two media ‘P’ or ‘Q’ is optically denser and why ?

Draw ray diagrams to illustrate the image formed by (i) normal eye, (ii) hypermetropic
eye and (iii) correction of hypermetropia using a suitable lens.

What are micelles ? How does the formation of a micelle help to clean the clothes ?

How is the valency of an element determined from its position in the periodic
table ?

Magnesium has atomic number 12. To which (i) group (ii) period of the periodic
table does it belong ?

The valency of all the elements in a group is same. Why ?

List three methods to limit the family size. State the principle involved in each.

What is speciation ? Describe in brief the factors that control the process of speciation.

What are homologous organs ? Illustrate with suitable examples, how is the process of
evolution related to homologous organs.

Differentiate between inherited traits and acquired traits. The traits acquired during
lifetime of an individual are not inherited. State reason.

(a)

Draw ray diagram to show the image formed when an object is placed between
pole and focus of a concave mirror. State the position and the nature of the
image.

An object of 4.0 cm size is placed at a distance of 25 cm from a concave mirror of
focal length 15 cm. At what distance from the mirror should a screen be placed
to obtain a sharp image of the object ? Find the nature and size of the image
formed.

OR
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An object is placed at the focus of a convex lens. Draw a ray diagram to locate
the position of the image formed, if any. State its position and nature.

An object placed 50 cm from a lens produces a virtual image at a distance of
10 cm from the lens. Find the focal length of the lens and also state the type of
the lens used.

24. Anorganic compound ‘A’ is widely used as preservative in pickles and has a molecular
formula of C,H,0,.

This compound reacts with ethanol to form a sweet smelling compound ‘B’.

(a)
(b)
(©)
(d)
(e)

(a)

25.

Identify the compound ‘A’
Write the chemical equation for its reaction with ethanol to form compound B.
How can we get compound “A” back from compound ‘B’ ?
Name the process and write the corresponding chemical equation.
Write the structure of compound “A’.
OR

Complete the following reactions and state the main product formed in each
case.

(@) CHy + Cl st

.. . H,SO
(i) CHyCH,oH O 2%

Define homologous series of organic compounds. State its one characteristic.
State in brief a chemical test to distinguish between Ethanol and Ethanoic Acid.

Name the parts labelled - A, B, C and D in the above diagram.
Name the parts associated with

(i)  Fertilisation

(i) Production of an egg

What happens to the lining of the uterus -

(i)  before release of fertilised egg ?

(ii)  if no fertilisation occurs ?

OR
Draw a diagram to show fertilisation in a flowering plant and label on it -
(i) Stigma (i) Ovary (iii) Pollen grain (iv) Female germ cell

Define the term ‘Double Fertilisation” in plants. After fertilisation name the part
that develops into -

(i)  Fruit (i) Seed
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SECTION-B

26. The best set - up for tracing the path of a ray of light through a rectangular glass slab is
shown in the figure.

A B C D
(b) B (0 C d D

27. Experiment on tracing the path of a ray of light through a rectangular glass slab was
performed by four students A, B, C and D. The measurement of angles Ui, Urand

Ue as reported by the four students are shown in the table below :

Student | Oi Or Oe
A 35° | 30° | 36°
B 45° | 34° | 46°
C 50° | 45° | 50°
D 60° | 35° | 61°

The student who has performed the experiment most carefully and methodically is
(@ D (b) C () B (d) A

28. Three students A, B and C determined the focal length of a convex lens by focussing
parallel rays from a distant object on a screen. They measured the distance as given
below :

Student A : Distance between object and screen

Student B : Distance between lens and screen

Student C : Distance between object and lens

Correct value of focal length is obtained directly by

(a) A only (b) Bonly () Conly (d) A and C both

29. For performing the experiment on determining the focal length of a given convex lens
by obtaining a sharp image of a distant object we generally use the following four steps
which are not in proper sequence.

() Hold the lens between the object and the screen with its face parallel to the screen.
(I)  Measure the distance between the lens and screen.

(III)  Select a well lit distant object.

(IV) Adjust the position of the lens to form a sharp image on the screen.

The proper sequence of these steps is

(@) ), (Iv), (1), (1) (b) (), (), (IV), (1)

(c) (), (@), @V), (1) (d) (IV), (), (1), (1)
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30.

31.

32.

33.

34.

In the adjoining figure ‘S” is the position of the screen on which a sharp image of a
distant object (nearly 600 m away from the concave mirror of focal length 10 cm) is
formed by the mirror ‘M’. If the object moves towards the mirror by some distance, say
50 cm, then to obtain the sharp image of the object on the same screen again the

M

) screen should be moved towards the object.
b) screen need not be moved.
c) mirror should be moved towards the screen.

d) screen and mirror both should be moved towards the object by same distance.

A student mixed some acetic acid in water and shook the mixture well. After some
time he would have observed the solution formed as

(a) green and Transparent (b) pink and opaque

(c) yellow and transparent (d) colourless and transparent

A student puts one big iron nail each in four test tubes containing solutions of Zinc
Sulphate, Aluminium Sulphate, Copper Sulphate and Iron Sulphate. A reddish brown
coating was observed only on the surface of iron nail which was put in the solution of

(a)  Zinc Sulphate (b) Iron Sulphate
(c) Copper Sulphate (d) Aluminium Sulphate

Acetic acid was added to a solid "X’ kept in a test tube. A colourless, odourless gas “Y’
was evolved. The gas was passed through lime water, which turned milky. If was
concluded that -

(a) Solid X" is Sodium Hydroxide and gas “Y” is CO.,,

(b) Solid X" is Sodium hydrogen carbonate and gas ‘Y is CO.,.
(c)  Solid X" is Sodium acetate and gas Y’ is CO,,.

(d) Solid X" is Sodium hydrogen carbonate and gas “Y” is SO.,.

When zinc rod is placed in copper sulphate solution, the blue colour of the solution
starts fading. From this observation a student concluded that the fading of colour is
due to

(a) Oxidation of zinc (b) Reduction of copper ions

() Reduction of sulphate ions (d) Oxidation of sulphate ions
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35. Four students A, B, C and D noted the initial colour of the solutions in beakers I, 11, III,
and IV. After inserting zinc rods in each solution and leaving it undisturbed for two
hours, they noted the colour of each solution again -

Al (SO,); Fe 5O,
I 111
Student | OO O i I v
solution

A Initial | Colourless | Colourless |Light Green Blue
Final | Colourless | Colourless | Colourless | Colourless

B Initial | Colourless |Light Yellow |Light Green Blue
Final | Colourless | Colourless |Light Green| Colourless

C Initial | Colourless | Colourless |Light Green Blue
Final | Light Blue | Colourless | Colourless |Light Green

D Initial |Light Green| Colourless |Light Green Blue
Final | Colourless | Colourless |Dark Green | Colourless

Which student noted the colour change in all the four beakers correctly -
@ A (b) B (© C (d D

36. After viewing the slides of budding in yeast following sketches were drawn by the
students. The sketch which does not illustrate budding is -

1) (p) () G
(@) (b) © ()

37. The diagram below illustrates -

= o

Bud formation in Yeast.

Formation of daughter cells in Yeast.
Pseudopodia in Amoeba.

Binary fission in Amoeba.

\—/\_/\QJ/

&
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38.

39.

40.

41.

5 g of raisins are placed in distilled water for 24 hrs. The weight of the soaked raisins
is found to be 7 g. The percentage of water absorbed by the raisins is -

(7-58g 1 (7-5)g 1
(a) 55 100 (b) 7g 100
© % x 100 (d) % x 100

In binary fission, the parent cell divides by the process :
(a) the nucleus and cytoplasm divide simultaneously
(b) the cytoplasm first divides then nucleus.
(c) the nucleus and cytoplasm do not divide.
(

d) the nucleus first divides then cytoplasm.

Subhash puts 10 g of raisin in 100 mL of distilled water at 20°C. Anurag puts the same
amount of raisins in 100 mL of distilled water at 40°C. After an hour, percentage of
water absorbed by raisins will be -

(a) Same in both cases.

(b) More in Subhash’s beaker.

() More in Anurag’s beaker.

(d) Exactly twice in Anurag’s beaker as compared to in Subhash’s beaker.

In the experiment on determining the percentage of water absorbed by raisins it is
advised that the raisins should be gently wiped using a filter paper, before measuring
their final mass. Wiping of raisins ensures that

(a) the weighing scale does not get wet.
(b) the raisins lose water before weighing.
()
(

d) only water absorbed by raisins is weighed.

hands do not get wet.

-00o0-
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